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ACCOUNTANCY AND BUSINESS h"l')/\'l ISTICS
See baevir (€ counling
OBJECTIVE 1?;\]:;“: Paper (Col Au”::/mxill’!um marks : §(
L)) Name any four methods of costing.
D el ) g e il e g |
(1) What is meant by Re-order level? Give formula.
e 31291 3 D e o 7 A M AR
(i) Mention formula to calculate bonus hours in Rowan
Bonus Scheme,
Ve <1 2 3 e w2 s 50 & g3 fafad |
(iv)  What do you mean by absorption or recovery of
overheads?
I & sraeiin sveen ageh @ S F waEd § 2
(v)  What is the difference between cost of production and
the production cost of goods sold?
IARA AT IR == T WA KT I A A R o )
(vi) What is meant by retention money in contract costing?

3% T SRy e A o o 2

WO dUIuoNn}I

O
Q&

rtuonline.com

woYyauljuonya

wodauijuonia

rtuonline.com

What is meant by abnormal effectjyes?
s T d A 2 '
o If there is a loss as per financia
(vi) donations not shown in cost accmintf:gcl)is g (S)()c} 0;3120;
would be the profit or loss as per cost acc':;m:tts'f” )
3ft foreia Thl = STTER T 10,600 31 & 51 7en 2 5
3 6,000 T T G A Fwferw 7@ o @), @ @ dg
T wefsfa e 3 Tl @ gt 2 ’
(ix) What is meant by Ideal Standards?
el YA | T AR E?
(x) Give formula for marginal equation.
W @TTa WHIE 6 gA S |
2. (i) From the following particulars calculate Economic Order
: Quantity (EOQ) and no. of orders for the year 2013-14:
(a) 10,000 units of a particular material are consumed per

(v

year .
(b) Per unit cost Rs. 20. _
(c) Cost of processing an order Rs. 50.

(d) Annual interest rate 5% _
(¢) Annual carrying cost of material per unit 15.% (other

than interest _
ﬁ;nfﬁuﬁ;t:% B g9 2013-14 & fog i aqﬁwmfu‘q‘

ST 3 T F O Hi: .
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(i) What is Flux Rate of Labour Turnovers =%

ey wAe?

gﬁ%?w qAEg? zﬁ%tﬁ 3;1: :ﬂrﬁde i
i 0 units Rs.
(i) The production cost of 1,00 g

foIIows; . . élooﬂ

Material . 4}05:1&

Wages L

Fixegd and variable overheads . 1he &

The company produced ™™
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per unit is Rs. 20 and profit is Rs. 20,000. Ca
amount of fixed and variable overheads.

TH 9% i 1,000 THEA F e T -
Freafefas - vy

8,000

It _ 6,000
R o wftedTefia seftem 4,000
FEA 5,000 THEE F IR FEALL, foa v o 3ord vy
20 ¥ a7 793 20,000 =1 T STt FE ¥ 1 Fer ue sty
uftedl =t ufi 3 Fifm |

(iv) A hotel having 100 rooms of which 80% are normally
occupied in summer and 25% in winter. Period of

leulate the
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" are required to caleulage () clowg
o) wolit or loas b {

() § o owing: ()" e

weiphted average method of
« made on the last day of th:.“,:P ':lllllmlng that no issue can
' Month, )

Explain the fo) Or
o “Wing by givin

(i) Halsey Premium Pl -
(i) Emerson Premium ;;‘an(“) Rowan Premium Plan

() LIFO and (iif)

B suitable examples:

4 A product passe i Hon-p

] 8 th
COMPletion. 10,000 e o 7€ distinct processes to

NE sk, (b) comt of gooda sold,
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summer and winter will be taken as 6 months each 50,000) in prog were introd
normal days in a month be assumed to be 30. Calcual,;‘:: T Immey %; );;‘;SQA- Fnllnwing ex enl;:: %Sg'lu?d 2t Re.
. total occupied room days. ' , R A ¥ 59 000 W!ﬁq Pafir= ‘g"" L ot rred:
wﬁmﬁ1onm’(§ﬁ#§ﬂm=qﬂ:ﬂﬁﬁ80%amsﬂaa;ﬁ =g el Ty, (m.‘-o,mom‘h‘!) vl
ﬁzs%wﬁrﬁa%mﬁaﬂwﬁmma—smmmm - - Pr T
1T H 30 it W R QU R Mgm v 2 S Machine Expenses ol ProcessB  pro .
EFili?‘rlﬂ ‘ ) = = bour ’ 4,000
(v) leEt_:i expenses is Rs. 90,000, sales is Rs. 3,00,000 and g g ;rect Expenses ﬂ)roﬂﬂ 30,000 22380
profit is Rs. 60,000. Calculate P/V ratio. o o Normal Wastage .000 16,400 P
T = 39 90,000, T w9 3,00,000 o T T 60 000 e 8 value - 5% 10% o
B 1 EM-TT ST Y o S | ’ S 2 TP Y (mit Rs. 100 e
DESCRIPT = = Actual output (units) g g 2.00 2.50
_ IVE PART-II Prepare Pr -000 8,000 7,700
Maximum marks : 60 Section-A L the cot Ocess Accounts Bhowing the cost of .

3. Oil India is a bulk distributor of High Octane Spirit, At o ol Wasi oo A1t at each stage of manufachare gl T2t
the end of each month, spirit inventory in hand is Normal Wastage Account. ong with
measured and books are closed. Foﬂcwingysummarised ¥ SRR S o A ey IR
information are available for January, 2014: FATd B W5hen W1 e 5 T 4 @ vﬁm@{ﬁ R
3 ¥fean w18 AR fere = 9 e & 1 wow e & s d . r
ARt 9 @ fare 31 T we TR T AR ¢ el | e GlVlflg your views regarding justification in harei

. v, 2014 Wﬁﬁ“wmﬂ s, profit on incomplete contract, explain the meih ging -
Purchases  Litres Rate (rs.) Freight per litre (1s) charging profit of incomplete contract, ods of
1 January 20,000 260 025 LA S R G 7 B S 35 e o e
31 January 10,000 2.75 0.28 F T, 190l 3% mwmﬂﬁﬁﬁﬁﬂﬁﬂhﬂﬁ?
Opening stock : 10,000 litres @ 3,00 including freight Section-C '
on 1st January. Closing stock: 13,000 litres on 31st January. > Calculate material variance from the following details
Sales Rs. 94,500; Gen. Administration Expenses Rs, 2,500. You available for a particular period,;
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Standard Actual for 10 mixes
Material X 40 kg @ Rs. 6 Material X 600 kg. @ Ry
Material Y 60 kg @ Rs. 4  Material Y 400 kg_g R;l
Loss 20% Loss 30%
w fafraa safa | g Fefafes faaodi 3 i
mqﬁmaﬁm— f“““\.

. HrEatas 10 fasel % forg .f
mmmﬁm 6% ufa mmmﬁﬁm
| 9% 60 fEm. 4 %, 9 mtm"taréquq;mﬁ w‘
&9 20 Hawa &3 30 Wawa

Or

Following figures relate to Rajkot Mills Limited for th‘
year 2013-14:
Fretfafaa wrs ad 2013-14 & fo Tetre ﬁ?{{ﬁ[ﬁ:\ﬁgi
Ty T §—

Fixed Factory overheads . - 4 00 [}l]{! i
Fixed selling and distribution overheads  2,00,000
Variable cost per unit 12 ,
Selling price per unit 20
Calculate: e
(i) Break-even point in units. . - e

Units to be sold to earn a target net incomb of Rs, 5,000
per month during a year.

Number of units to earn a net income of 25% on cost.

Selling price per unit if break-even point is to be bmughn
down by 15,000 units.

Selling price to earn a profit of 20% on sales by sellmg
only 50,000 units.
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